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Which of the following is a relatively benign condition 

that may occur during pregnancy or labor? 

A. Macular degeneration 

B. Papilledema 

C. Subconjunctival hemorrhage  



D. Cupping of the optic disc  

E. Presbyopia -        CORRECT ANSWER         c. 

subconjunctival hemorrhage 

 

A condition that typically develops by the age of 45 years 

is 

A. presbyopia.  

B. hyperopia. 

C. myopia. 

D. astigmatism. 

E. cataracts. -        CORRECT ANSWER        A. 

presbyopia 

 

Which of the following findings, when seen in an infant, is 

most ominous? 

A. Difficulty tracking objects with the eyes 

B. Appearing to have better peripheral than central vision 

C. Blinking when bright light is directed at face 

D. White pupils on photographs  



E. The appearance of convergence -        CORRECT 

ANSWER        D. White pupils on photographs 

 

Which of the following is a genetic eye disorder that 

should be included in the history and physical 

examination, under family history, for all members of the 

affected family? 

A. Constrictive iritis 

B. Retinoblastoma  

C. Oval pupils 

D. Retinal hemorrhages 

E. Maculates -        CORRECT ANSWER         b. 

Retinoblastoma 

 

A Rosenbaum card is used to measure 

A. distance perception. 

B. near vision .  

C. peripheral distortion. 

D. the ability to identify colors. 



E. extraocular movements. -        CORRECT 

ANSWER        B. near vision 

 

Mr. C's visual acuity is 20/50. This means that he 

A. can see 50% of what the average person sees at 20 

feet. 

B. has perfect vision when tested at 50 feet. 

C. can see 20% of the letters on the chart's 20/50 line. 

D. can read letters while standing 20 feet from the chart 

that the average person could read at 50 feet. 

E. is legally blind. -        CORRECT ANSWER        D. can 

read letters while standing 20 feet from the chart that the 

average person could read at 50 feet. 

 

 

 

The eyes are innervated by the cranial nerves---? -

        CORRECT ANSWER         111, 1V, V1 

 


